Wahrscheinlichkeitstheorie

Regressionsgerade

S. 20

52 = nil(fo—%Ein—&—n-EQ)

R D TiYi — N TY
T n—1) s, 8y
b=1ryy- Sy
—y—b-T
Verteilungen
S. 121, 125
Verteilung | S. | E(X) | V(X)
Bin(n,p) 5 | n-p n-p-(1—p)
Hyp(n,r,s) | 61 | (n-r)/(r+s) | n-p-(1—0p) (1_7~Z;11)m1tp:$
Po()\) 68 | A A
Nb(r,p) 3 r-1-p)/p | r-1-p)/p?
G(p) 3 (1-p)/p (1-p)/p
N (i, 0?%) 87 | p o2
LN (u,0?) ehtzo utoT (g7 — 1)
U(a,b) 80 | (a+b)/2 (b—a)?/12
I(«, B) 86 | a/f a/pB?
Exp(X) 85 | 1/A 1/)2
Faltungen
S. 111
]Pl ‘ I[DQ ‘ Pl * ]Pg
Bin(m,p) | Bin(n,p) | Bin(m + n,p)
Pof) | Po(B) | Pola+B)
Nb(r,p) Nb(s,p) | Nb(r+s,p)
G(p) G(p) Nb(2,p)
N, o®) | N, %) | N(u+wv,0%+7%)
Fgu,ﬁ) (v B3) Fgwrvﬂ)
Xm Xn Xern
Exp(B) | Exp(B) | [(2,8)

Erwartungswert und Varianz
S. 116, 119 121, 125

E(X +Y)=E(X)+E(®Y)
E(a-X)=a-EX
V(aX +b) =a* - V(X)

EX = /+Ooa:~fx(ac)d3:

“+o0
EX? :/_ 22 fx(z)dx
V(X) =E(X?) - (EX)?

Kovarianz
S. 131
CX,Y)=E(X-Y)-E(X) E(Y)
C(X,X)=V(X )
CaX +b,cY+d)=a-c-C(X
O(X +2,Y) = O(X, )+C(Z,Y)
Stichproben
S. 16
k=|n-a
B 1 n—k
o= o 2

i=k+1
P LY yfalls n-a ¢ N,
% . (I(k) + I(k+1)) sonst
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